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An input output system is as shown below
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(@) Find h(t) the impulse response ?
(b) If the input is the step function , x(t) = u(t) , find the out put y(t) using the
Fourier Transform Table and Properties only ?
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Note S aix) = X ~ (4x)

Solution (a) Y(w):ﬂ%xw)) :H(w):;{(((aa)))):l o

=h(t)= gt(e‘t)u(t) =—e"u(t)+(e™)_,5(t)=5(t)—e'u(t)

b X (a)):jiwma(a))

Y (@) =X (0)H ()= L +7z§(a))}{ 1+1Jconlw +7z5(a))} Jw(li o) 1+Jw( w(e)
i jla) (1+1Ja)) 1+ jO\ﬂg(w)) |

{J +7r5(a))} { (1+J )+ 5(0))} ;'%(1+ja))

= y(t)=eu(t)



